AJIKHUHBI
- Mo HeHdaCblUjeHHble
y2/1€8000p00bI, codepiycauwjue 8
uenu mpouHyiO C853b.

O61as popmysia aIKMHOB
CnHZn-Z

CH = CH 3THH, alleTH/IeH

CH= C-CH; npomnus,
MeTW/IaleTU/JIeH



dDu3uyecKue ceolucCmeda:

AueTunieH — ras, 0/1, 0/3,

B BO/le MA/IOPACTBOPHUM,
X0pOII0 PaCTBOPUM B alleTOHe.
CMmecs anjeru/ieHa ¢ BO3yXoM
B3pPbIBOOIIACHA

C,—- Cs—ra3sl, 0/11, 0/3

Cs — Ci6— XKHAKOCTH

Ci74 BbIlIe — KPUCTA/UIMYECKHE
BellecTBa

Twins LInn, P Y QJIKUHOB BbIIIIE
10 CPABHEHHUIO C a/IKAHAMHU U
a/IKeHaAMHU.



J/IEKTPOHHOEe CTPOeHHe
ATOMBI yr/jiepoja rpy TPOUHOU
CBSI3U HAXO/AATCA B
Sp — THOpUAU3aIUN.

H-C=C-H

yinHa TporHou cBA3N—0,120HM
JHeprus cBsasu — 814 K/Ix/Mo/1b



XuMHuuecKre CBOMCTBA
1.I'anozeHupoeaHue.

N
HC=—CH + X, ——> C—C=C — > X—CH—CH—X
2 h X | |
X X
X— Cl,,Br,
40°C H\ /CI cl,
CH=CH + Cl, —— c=C —> C|l—CH—CH—Cl
/ \H

Cl

TpaHC-1,2-TUOpPOMATU/IEH

(peakyus c OpoMoMm -
KauecmeeHHas peakyus Ha

Cl Cl
1,1,2,2 - TeTpax/iop3TaH

MpOUHYIO C8513b)

2. I'udpozanozeHupogaHue:
npucoeouHeHue
20/102€HB000P0008 NnpomekKaem
no npasus1y MapkogHUKoega



_ HCI
HC = CH + HCl —> CH,~—CH—Cl ——> CH,—CH—Cl

Cl
3. I'maparanusa(peakius
KyuepogBa):
HgSO,, H,SO, O
HC == CH + H,0 > CH,==CH—OH——>=CH,—C
alleTUIeH H
atleTasbAeruy
HgSO,, H,SO,
R—C —CH + H,O > R C=—CH, — = R—C—=CH,
[
OH O KeTOH

4. PeakKiju BUHW/IUPOBAHUA:

C,H,OH
rm—— CH,=CH-0OC,H, OyTuIBMHM/IOBBLIA 3(up

CH,COOH

CH,=CH -O-C(O)CH, Bunwunarerar
CH=CH —

HCN CH,=CH - CN aKPUJIOHUTPUJT

CH, - NH,

CH2 =CH - NH - Cl—g MEeTUJ/IBUHU/IaMUH

5.KapO0oHuiupoBaHue:



Ni(CO), = O
CH=CH + CO + HX = CH,=CH-C_

X

X = OH, NH,
6.Kuc/10THbBIE CBOMCTBA
( c1abbie CH — KHC/TIOTHBIE
CBOMCTBA):

NH,
CH=CH + NaNH, —= CH=C-Na + NH,

alleTUJIeHU/]l HaTpHUsl

Ag-C EC-Agl +4NH;, +2H,0
aljeTUIeHU 1 cepebpa

CH=CH + 2[Ag(NH,),JOH

CH=CH + 2[Cu(NH;,),JOH Cu-C=C-Cuy +4NH, +2H,0

alLleTUeHul MeJu

B3aumooeiicmeue
auemu,/1eHU008 C



2a/102eHA/IKU/1amu (Memoo
no/iyuyeHust 20M0,10208
auemu.ieHa):

CH=C-Na + CH,-CH,-Br — > CH=C-CH,-CH, + NaBr

dlleTUJIEHN [ HaTPpUsA TUMALeTU/IeH

Cu-C=C-Cu + 2CH,-CH,-Br —> CH,-CH,-C =C-CH,-CH, + 2CuBr
dalleTujaeHna Mmegu AUSTU/1alleTHJ/IeEH

7. OKHC/IeHMe:

H,O

CH=C-CH, + O,

KMNO,. H+> R -COOH + R'- COOH

CO, + CH,COOH

R-C=C-R

8.BoccTaHoB/1IeHUe

Pt H
CH=CH + H, — CH,=CH, —= CH,-CH,

9.11otumepu3sausn
a) oumepusayus



Cucl
CH=CH + CH=CH ~ CH=C-CH=CH,

BHHMWJIAl]€THUJIeH

0) mpumepuzauyusi

CucCl
3CH=CH > CH,=CH-C=C-CH=CH,

MUBUHUIALIEeTUIEH

C(akr.), 400°C
r

3CH=CH
CH,
C(akr.), 400°C
3CH=C-CH, >
MeTu/1alleTU/1IeH H3C CH 3

1,3,5 - TpuMeTHI0€H30/



